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True model: ZINB with φc=0.5; φt=0.45.  
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Estimate of SE(γ1) when φc=0.5; φt=0.45.  
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True model: ZINB with φc=0.5; φt=0.5.  
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Estimate of SE(γ1) when φc=0.5; φt=0.5.  
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True model: ZINB with φc=0.5; φt=0.55.  

S
E

(γ
1)

LOLS Poiss NB 2P−LOLS PH ZIP NBH ZINB

0.
00

0.
02

0.
04

0.
06

0.
08

0.
10

0.
12

0.
14

0.
16

mean

SD

●

●●

0.051
0.001

●●●●●●●●●

●

0.051
0.002

●●
●
●●

●●●●●

0.143
0.005

●●●●

●●●●

0.086
0.003

●
●●●
●●●●●●

●

0.053
0.002

●●

●●
●●
●●●

●

●●

●

●
●
●

0.12
0.008

Estimate of SE(γ1) when φc=0.5; φt=0.55.  


